Samostatná práce 	
Řeš rovnici, proveď zkoušku:

1.				Zk.: 
	 			        
	            	/ :3			        
                            
2.				Zk.:  L = 7.(4 – 3.3) = 7. (-5) =- 35
	      		                     P = - (11. 3 + 2) = - (33 + 2) = - 35
	 			        L =P
		 	/ :(-10)		            
		          y	= 3		         
3.		/∙10			Zk.: 
         	                             	        
          				        
                    	/ :3
	         
4. -  =  4x -1   /.6            Zk.: L =  -  = 1 - (-2) = 1 +2 = 3
     3. (5x – 3) – 2.(1 – 7x) = 6 . 4x – 6 . 1                 P =  4. 1 – 1 =3
      15x - 9  - 2 + 14x          = 24x – 6                         L= P
                                        5x =  5      / :5
                                          x = 1
                                     



	         


  
